GREATER BAY AREA
MATHEMATICAL OLYMPIAD
PRELIMINARY ROUND 2021 -2022

GRADE2-KHOI 2

Time allowed: 60 minutes
Thoi gian thi: 60 phuit

Question Paper
Phiéu cdu hoi

Instructions to Contestants: (Hudong dan thi)

1.

Each contestant should have ONE Question-Answer Book which CANNQOT be taken
away.

MGoi thi sinh dwoc cap MOT b6 Phiéu cdu héi - Phiéu trd 16i. Thi sinh KHONG DUQC mang
tai liu ra ngoai phong thi.

There are 2 sections in this exam. Section A consists of 10 questions. Each question
carries 4 marks. Section B consists of 10 questions. Each question carries 6 marks. The
total number of questions is 20. Total score is 100 marks. No points are deducted for
incorrect answers or empty answers.

DEé thi gom 2 phiin. Phiin A gom 10 cdu, moi cdu 4 diém. Phin B gom 10 cdu, mdi cdu 6 diém.
D@ thi c¢6 tit ca 20 cdu héi voi tong s6'diém la 100. Tra loi sai hodc khong tra loi déu khong bi
trie diém.

All answers should be filled in the ANSWER SHEET.
Tat cd ddp én phai dwoc t6 vio PHIEU TRA LOL

NO calculators can be used during the contest.
Tuyét d6i KHONG str dung mdy tinh trong qud trinh thi.

This Question-Answer Book will be collected at the end of the contest.
B{ Phiéu ciu hoi — Phiéu tra 10i sé dwoc thu lai sau khi thi sinh hoan thanh bai thi.

DO NOT turn over this Question-Answer Book without approval of the examiner.
Thi sinh KHONG tw y xem dé khi chiea co hi¢u lénh cua giam thi.

Otherwise, contestant may be DISQUALIFIED.
Néu thi sinh vi pham mot trong cic diéu trén, BTC c6 quyén hiy két qua thi ciia thi sinh do.
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SECTION A: 1¢t to 10" Question (Each question carries 4 marks)
PHAN A: Tir cdu 1 dén cdu 10 (Mdi cdu trd 10i diing duwoc 4 diém)

1)  Find the value of 42+38-27-33+21.
Tinh gid tri cua 42+38—27—-33+21.

A. 41 B. 40 C.31

2)  Refer to the figure below, how many squares are there?
Hoi c6 bao nhiéu hinh vudng trong hinh dwoi diy?

A.8 B.7 C.9

D. 30

D.6

3)  Andy places cubes on top of each other to get the figure below. At least how many

cubes does he use?

Andy xép cdc hinh ldp phwong chong 1én nhau dé dwoc hinh dwoi ddy. Héi anh dy cin dung it

nhat bao nhiéu khoi lap phwong?

A.23 B.15 C.21
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4)

5)

6)

7)

8)

9)

10)

How many natural numbers are there from 41 to 76? (Include both end numbers)
HOoi ¢6 bao nhiéu so tw nhién tir 41 dén 76? (Tinh cd s6 diu va so cudi)

A. 117 B. 37 C. 35 D. 36

Find the value of 3x8+7x6+2x9+2x0+4x9.
Tim gid tri ciia 3x8+7x6+2x9+2x0+4x9.

A. 100 B. 120 C. 122 D. 102

Find the value of 195+ 295+ 212 +399+555+344.
Tim gid tri ctia 195+ 295+ 212 +399+555+344.

A. 2500 B. 1000 C. 1500 D. 2000

According to the pattern, which number should be filled into the box?
Duwa vao quy ludt dwéi ddy dé dién so thich hgp vao 6 trong.

3 ; 7 W & By 7 O o \ 23

A. 19 B. 16 C.18 D. 20

An egg weighs 40g. The weight of an apple is the same as that of 4 eggs. The weight
of 4 bananas is the same as that of 5 apples. What is the weight of a banana in grams?
MGt qud trieng ning 40g. Mot qud tdo ning bang 4 qud trimg. 4 qud tdo chudi ning bang 5
qua tdo. Hoi 1 qua chudi nang bao nhiéu gam?

A. 800 B. 100 C. 200 D. 128

By observing the pattern, what is the next figure?
Quan sat quy ludt dwéi day dé’tim hinh tiép theo.
A % A % m A k' m'm A *x ' mm 7"
A A B. % Cm D.V

55 children stand at a column. Counting from the back, Fan is now standing at 12t.
How many children are standing in front of Fan?

55 dira tré xép thanh 1 hang doc. Tinh tir cudi hang thi Fan dimg thir 12. Hoi c6 bao nhiéu
dita tré dirng truée Fan?

A. 42 B. 43 C. 44 D. 67
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SECTION B: 11* to 20* Question (Each question carries 6 marks)
PHAN B: Tir cdu 11 dén cdu 20 (Mdi cdu trd 10i diing duwoc 6 diém)

11) If a cat can walk 4 meters in 8 minutes, how many meters can it walk in half an hour?
Néu mot con meo cir 8 phiit thi di dwoc 4 mét, hoi né di diegc bao nhiéu mét trong niva gio?

A 4 B.2 C.30 D. 15

12) Now there are 7 people in a room. Every 2 people will shake hands when they meet.
How many “shaking-hand” times are there?
C6 7 ngueoi trong phong. 2 nguedi bat ki sé bat tay khi ho gdp nhau. Héi c6 bao nhiéu cdi bit
tay?

A.21 B. 14 C:. 9 D. 42

13) Find the value of 4x5+15x11+35x37+4x25+40x8.
Tinh gid tri cua 4x5+15x11+35x37+4x 25+ 40x8.

A. 1900 B. 1800 C. 2000 D. 1700

14) Find the value of 101-108+99-106+107 —-114—-117 +124+118+116.
Tim gid tri cua 101-108+99-106+107 —114—-117 +124+118+116.

A. 210 B. 220 C. 200 D. 190

15) Teacher Mr Chan is now giving 43 candies to 8 children so that each child has the same
number of candies. At least how many candies is teacher left with?
Thidy Chan lan lwgt chia 43 chiéc keo cho 8 dira tré sao cho mdi ban déu cé s6'keo bang nhau.
Hoi thidy con thira it nhit bao nhiéu chiéc keo?

A.0 B. 35 - Mhs] D.3

16) Refer to the figure below, how many line segments are there?
HGéi c6 bao nhiéu dogn thing trong hinh duwéi ddy?

A. 10 B.12 C. 13 D. 11
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17)

18)

19)

20)

Refer to the following sequence, find the value of A+B.

Duea vao diy s6 dwdi ddy dé'tim gid tri cia A + B.
6-38-13-31-20-24-27-17-34-10~A B~ ...

A. 43 B. 44 C.45 D. 46

A 2-digit number is divided by 7 to get a remainder of 3. Find the minimum value of
this 2-digit number.
Mot s6°co 2 chik s6'chia 7 dw 3. Tim gid tri nho nhdt ciia s6"do.

A.3 B. 11 C. 10 D. 12

When May was born, dad was 26 years old and mum is 4 years younger than dad.
When May will be 18 years old, how old will mum be?
Khi May sinh ra, b6'26 tudi va me it hon b4 tudi. Hoi khi May 18 tudi thi me bao nhiéu tudi?

A. 40 B. 30 C.48 D. 44

Find the value of A+B+C.
Tim gid tri cua A+ B + C.

A. 10 B.11 C.12 D.13
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